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ASCII Values of Characters 



Two useful functions 

�  ord(ch) 
   if ch is a single character string, this function returns the 

ASCII code for ch 
 
�  chr(i) 
   returns a string of one character whose ASCII code is the 

integer i  
 
What is ASCII? 
It stands for the American Standard Code for Information 

Interchange. It assigns a number in the range 0..255 to 
every character that can be entered at the keyboard. 



More on ASCII 

�  The numbers 0..31 are reserved for unprintable 
characters, e.g., the tab character (“\t”), the end of 
line character (“\n”), etc. 

�  32 is the ASCII value of the space character (“ “) 
�  33..47 is used for some punctuation characters 
�  48..57 is used for digits “0” through “9” 
�  65..90 is used for upper case letters 
�  97..122 is used for lower case letters 



ASCII Table 



Some examples of chr and ord in action 

>>> ord("a") 
97 
>>> chr(97) 
'a' 
>>> ord(" ") 
32 
>>> ord("0") 
48 
>>> chr(48) 
'0' 
>>> chr(49) 
'1' 
>>> ord("A") 
65 
>>> ord("B") 
66 



How are these functions useful? 

�  Because of the the fact that all the upper case letters 
occur consecutively in the ASCII table, the 
expression ord(ch) – ord(“A”) has value 0 for ch= 
“A”, value 1 for ch = “B”, has value 2 for ch = “C”, etc. 

�  Similarly, ord(ch)-ord(“a”) has value 0 for ch = “a” , 
has value 1 for ch = “b”, has value 2 for ch = “c”, etc. 



A program to count letter frequencies 

f = open("war.txt") 
L = [0]*26 
s = f.read() 
for ch in s: 
    if ch.isupper(): 
        L[ord(ch)-ord("A")] = L[ord(ch)-ord("A")] + 1 
    elif ch.islower(): 
        L[ord(ch)-ord("a")] = L[ord(ch)-ord("a")] + 1 
print L 

Notice how ord(ch)-ord(“A”) and ord(ch)-ord(“a”) are used 
to index into the list L. 



Another Example 

Write a function that takes a nonnegative integer (in 
decimal representation) and returns a string that is the 
hexadecimal equivalent of the given nonnegative 
integer. 


